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What about +he enclroin-}s?



A+ the endpoints , x=1 and X:=5 the ratio test is

jnconclusive as L = IX’3, = 1. We need 1o
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check covwersenca ot X1 and X:=5 se,Pou-od—eia,

US 03 other tests.
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We coll T +he interval of convergeace and cald

R the rodiws of Converqence.
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Remarks+

1. To find the radius and interval of convergence , use

the rokio test aud delermine where L < 1. Cowe::je.nce_




ot the endpoints of T wmust be checked separately

I/LS'»Y‘j other +ests.

2. Lf xeI is NOT an endpoint of T, Convergence
of X will be absolute. —L{: XeL is an emdPo€/\+,

COnverjenc,e ot x could be conditional or absolute.
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